
Ib)$%

_J5$%

Ib5$%

_J/$%

Ib/$%

_J)$%

ohd/$%

Bkl5$%

Bkl/$%

kWB+

_J#$%

3

789:; 6/13

0 20 50 100 150 200

(m)

9"b

O.P+3.7m

4mb

O.P+3.6m

7nb
opb

q{b

O.P+4.1m

rs0b

t
1

/8uv8.

4mb?
@9<Ao*C_J3$%D

EFG

,-HI
9w74xyz{T|

(bcG nGdO)

(bcG nGdO)

(bcG nGdO)

01237456787 }~uYZ[C p\`_

O.P+4.4m
(bcG nGdO)

O.P+4.5m
(bcG nGdO)

_zrO.P+5.4m
 zrO.P+5.1m

(bcG nGdO)

4mb?

/8uv8.
@9<A_Cohd1$%D

EFG

,-HI

9<JB9<K7LMN

NPOOP9<74QRST

}~GC p!"a7456787

<78=>?@ABCDEO.P.+0.5mFG7HIJKLMNG8OPQRS
<TU=>2023V12WXYFGZ[PQRS
<\]^_`abcGdO=>Ae18VGfgFGhGNij>klmnopqj
rsRatuvijMRS
Mw>xyDEz{G|}>~7pqj>7HIJ nMNGdOz78=rs^MRGN>
!kG"#p$%^_&'()Gh*+,-./O`S

78

0.0mU0.5m

0.5mU1.0m

1.0mU1.5m

1.5mU2.0m

2.0mU2.5m

2.5m V4

2dJuxt

2dJuxt
@9<A_C2dJ1$%D

EFG

,-HI NPOOP9<74QRST

9<JB9<K7LMN

S=1/2500

8^A^=>C 
86qu`$%C 
8}~uYZ[C 

8^A^=>C{
86qu`$%C{
8}~uYZ[C{

3"4
567

8

*9:
;<5m=>

?"4
@A-

8]59:C 
@;6IJ5mV<=]5=>D

;4G___NQ^wC =>`}~uYZ[C aPbGMRS
ncGdEGe`ufvghpijahG*^MRS

BCD)

2d2@342D

|
2
1


